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561 jB/K A— JaoT= 40 37) 11 0.0/77.0
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L RR T FHEGC 39, 39 78 0.078.0
8fir |Frith IEfE FLgkCC 38 41 719 0.0/79.0
ML IRE HB f53BG6C 40 39/ 79 0.0/79.0
10462 /M#k H# i 2EERCC 40 40/ 80 0.0/80.0
141 (=i BE FEELX 41 39 80 0.0/80.0
1242 NI EZ ELTRCC 41 39/ 80 0.0/80.0
1361 |[L#E AKX f53BG6C 43 38/ 81 0.0/81.0
14461 | X% HE i 2EERCC 41 40/ 81 0.0/81.0
156 |kH HEH RREMRGC 41 40/ 81 0.0/81.0
16461 |vFE 1E— uce 41 41 82 0.0/82.0
1760 #% i ELTRCC 44 40| 84 0.0/84.0
1841 [EA IEZR BREGC 44 42| 86, 0.0/86.0
196 &£H @A FLgkCC 42 44| 86, 0.0/86.0
2043 /\ith IESE CCC/hiis 42 44| 86, 0.0/86.0
2161 #FHE ME #1E3CC 45/ 43| 88 0.088.0
225 | E BRE CCC/Ng 44/ 44, 88 0.0/88.0
2341 | &A —B CCCEr3a L 46/ 43| 89 0.089.0
241 iBER =B #LCC 44 45 89 0.0/89.0
2561 |l SFE UG ;)1 43 46| 89 0.089.0
264 \KiE {ZF| EREECC 44| 48/ 92/ 0.0/92.0
276 B fH— UGHER )| 471 46| 93 0.093.0
286 | RE FEEILX 47/ 49| 96 0.096.0
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